
＋ ＝ ２ 10 
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Put together 

＋ ＝ 10 ２ 

Put together 

Put together 

How many are there when we put 10 and 2 together? 

We can write 
the number 
sentence like 
this. 

What is the 
answer of 
“2+10”? 

Good! 

There are 12. 



add 

＋ ＝ 10 ２ 

① ② 

add 

＋ ＝ 10 ２ 

10 １ ＋ ＝ 

10 ２ ＋ ＝ 

10 ５ ＋ ＝ 

10 ６ ＋ ＝ 

10 ７ ＋ ＝ 10 ３ ＝ ＋ 

10 ４ ＋ ＝ 10 ８ ＋ ＝ 

add 

add 

add 

add 

add 

add 

add 

add 

T09_S01 

Example  Add. 

Exercise  Add. 
Good! 



④ ⑤ 

③ 

10 ９ ＋ ＝ 

add 

１ 10 ＋ ＝ 

２ 10 ＋ ＝ 

５ 10 ＋ ＝ 

６ 10 ＋ ＝ 

７ 10 ＋ ＝ ３ 10 ＝ ＋ 

４ 10 ＋ ＝ ８ 10 ＋ ＝ 

add 

add 

add 

add 

add 

add 

add 

add 

10 10 ＋ ＝ 

add 

T09_S01 

Exercise  Add. 



⑦ ⑧ 

⑥ 

９ 10 ＋ ＝ 10 ０ ＋ ＝ 

add add 

＋ ＝ 

６ 10 ＝ ＋ 

10 ０ 

６ 10 ＋ ＝ 

10 ３ ＋ ＝ 

＝ ３ 10 ＋ 

４ 10 ＋ ＝ 

10 ４ ＋ ＝ 

８ 10 ＋ ＝ 

10 ２ ＝ ＋ 

０ 10 

10 ５ ＋ ＝ 

７ 10 ＋ ＝ 

＝ ２ 10 ＋ 

10 10 ＋ ＝ 

９ 10 ＋ ＝ 

10 １ ＋ ＝ 

＋ ＝ 

T09_S01 

Exercise  Add. 



add 

T09_S02 

＋ ＝ １ ９ 

＋ ＝ １ ９ 

add 

add 

＋ ０ 10 

Good! 

What is the answer of “1+9”?  

We can find it out by moving 1 onion to 9. 

Moving 1 
onion 
makes 10. 



＋ ＝ １ ９ 
add 

add 

＋ ０ 10 

＋ ＝ １ ９ 
add 

add 

＋ ０ 10 

① ② 

③ ④ 

＋ ＝ １ ９ 
add 

add 

＋ ０ 10 

＋ ＝ ２ ８ 
add 

add 

＋ ０ 10 

＋ ＝ ３ ７ 
add 

add 

＋ ０ 10 

＋ ＝ ４ ６ 
add 

add 

＋ ０ 10 
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Exercise  Add. 

Example  Add. Good! 



＋ ＝ ６ ４ 
add 

add 

＋ 10 ０ 

＋ ＝ ９ １ 
add 

add 

＋ 10 ０ 

⑥ 

⑦ ⑧ 

⑨ 

⑤ 

⑩ 

＋ ＝ ８ ２ 
add 

add 

＋ 10 ０ 

＋ ＝ ７ ３ 
add 

add 

＋ 10 ０ 

＋ ＝ ５ ５ 
add 

add 

＋ ０ 10 

＋ ＝ １ ９ 
add 

add 
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Exercise  Add. 



＋ ＝ ３ ７ 
add 

add 

＋ ＝ ６ ４ 
add 

add 

＋ ＝ ２ ８ 
add 

add 

⑪ ⑫ 

＋ ＝ ４ ６ 
add 

add 

⑬ 

⑮ ＋ ＝ ７ ３ 
add 

add 

⑯ 

＋ ＝ ５ ５ 
add 

add 

⑭ 

T09_S02 

Exercise  Add. 



⑰ ⑱ ＋ ＝ ９ １ 
add 

add 

＋ ＝ ８ ２ 
add 

add 

＋ ＝ ４ ６ 
add 

add 

㉑ ＋ ＝ ７ ３ 
add 

add 

㉒ 

＋ ＝ ２ ８ 
add 

add 

⑲ ＋ ＝ ５ ５ 
add 

add 

⑳ 

T09_S02 

Exercise  Add. 



T9_S021 

＋ ３ ＝ １２ 

put together 

put together Good! 

has 12 onions.  

The number is bigger than 10.  

gave              3 onions. How many onions does he have now?  



１３ ＋ ４ 

add 

＋ ４ １３ 

add 

＋ ４ １３ ＝ 

T9_S021 

Let’s do an addition of numbers bigger than 10.  

13 is a sum of 10 and 3.  

We can add 4 
to the 3 of 13.  

Good! 

3 + 4 = 7     
We get 17 by putting together 10 and 7.  



５ ＋ １２ 

５ ＋ １２ 

＝ ５ ＋ １２ 

add 

add 

T9_S021 

5 + 2 = 7     
We get 17 by putting together 10 and 7.  

We have a bigger number on the right this time.  

You can add the smaller 
number to the bigger number. 

We can add 2 of 12 
to 5. 

Good! 



＋ １３ ４ ＝ 

add 

① ② 

③ ④ 

＋ １１ ５ ＝ 

add 

＋ １４ ２ ＝ 

add 

＋ １２ １ ＝ 

add 

＋ １３ ２ ＝ 

add 

⑤ ⑥ ＋ １５ ４ ＝ 

add 

＋ １６ ３ ＝ 

add 

T9_S021 

Good! 

Example  Write a correct number in           . 

Exercise  Write a correct number in           . 
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⑦ ⑧ 

⑨ ⑩ 

＋ １８ １ ＝ ＋ １２ ３ ＝ 

＋ １５ ２ ＝ ＋ １４ ５ ＝ 

⑪ ⑫ ＋ １１ ４ ＝ ＋ １６ １ ＝ 

⑬ ⑭ ＋ １７ ２ ＝ ＋ １３ ３ ＝ 

⑮ ⑯ ＋ １６ ２ ＝ ＋ １２ １ ＝ 

add add 

add add 

add add 

add add 

add add 

Exercise  Write a correct number in           . 
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⑰ ⑱ 

⑲ ⑳ 

＋ １２ ５ ＝ ＋ １５ ３ ＝ 

＋ １７ １ ＝ ＋ １１ ６ ＝ 

㉑ ㉒ ＋ １３ ３ ＝ ＋ １４ ３ ＝ 

㉓ ㉔ ＋ １３ ４ ＝ ＋ １６ ３ ＝ 

㉕ ㉖ ＋ １５ ２ ＝ ＋ １２ ６ ＝ 

add add 

add add 

add add 

add add 

add add 

Exercise  Write a correct number in           . 
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㉗ ㉘ ＋ １１ ２ ＝ ＋ １５ １ ＝ 

㉙ ㉚ ＋ １２ ７ ＝ ＋ １３ ５ ＝ 

㉛ ㉜ ＋ １２ ４ ＝ ＋ １６ １ ＝ 

㉝ ㉞ ＋ １４ ２ ＝ ＋ １１ ７ ＝ 

㉟ ㊱ ＋ １７ ２ ＝ ＋ １３ ５ ＝ 

add add 

add add 

add add 

add add 

add add 

Exercise  Write a correct number in           . 
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＋ １２ ３ ＝ 

① ② ＋ １１ ３ ＝ ＋ １６ １ ＝ 

③ ④ ＋ １５ １ ＝ ＋ １４ ２ ＝ 

⑤ ⑥ ＋ １８ １ ＝ ＋ １７ １ ＝ 

⑦ ⑧ ＋ １１ ５ ＝ ＋ １２ ２ ＝ 

⑨ ⑩ ＋ １５ ４ ＝ ＋ １４ ３ ＝ 

⑪ ⑫ ＋ １６ ２ ＝ ＋ １１ ７ ＝ 

⑬ ⑭ ＋ １７ ２ ＝ ＋ １３ ３ ＝ 

⑮ ⑯ ＋ １２ ６ ＝ ＋ １４ １ ＝ 

Example  Write a correct number in           . 

Good! 

Exercise  Write a correct number in           . 
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㉑ ㉒ ＋ １４ ５ ＝ ＋ １１ ７ ＝ 

㉓ ㉔ ＋ １６ １ ＝ ＋ １４ ４ ＝ 

㉕ ㉖ ＋ １２ １ ＝ ＋ １１ １ ＝ 

㉗ ㉘ ＋ １６ ３ ＝ ＋ １５ １ ＝ 

㉙ ㉚ ＋ １２ ７ ＝ ＋ １３ ４ ＝ 

㉛ ㉜ ＋ １２ ６ ＝ ＋ １２ ４ ＝ 

㉝ ㉞ ＋ １８ １ ＝ ＋ １３ ５ ＝ 

㉟ ㊱ ＋ １４ ４ ＝ ＋ １５ ４ ＝ 

⑰ ⑱ ＋ １７ １ ＝ ＋ １１ ６ ＝ 

⑲ ⑳ ＋ １２ ５ ＝ ＋ １５ ２ ＝ 

Exercise  Write a correct number in           . 



There are  9! 

put together put together 

put together put together 

has 3 onions,           has 4 onions and            has 2 onions. 

T9_S022 

How many onions are there all of the three together? 

Good! 



＋ ＝ 

put together put together 

add add 

＋ 

＋ ＝ 

add add 

＋ 

T9_S022 

Let’s write an number sentence of  
“addition” for this picture.  

Write the numbers of        in the        . 

Good! 

We can write it in the form of addition 
even if there are three numbers. 



＋ ２ ３ ＋ ４ 

＋ ４ ＝ 
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＋ ２ ３ ＋ ４ 

＋ ２ ３ ＋ ４ 

＋ ４ 

Let’s add three numbers. 

Add two numbers at a time. 

Add 2 and 3 first. 

Good! 

Add 4 to the sum 5 of 2 and 3. 

We can add two numbers. 



T9_S022 

＝ 

＋ ２ ３ ＋ ４ 

＋ ４ 

＋ ２ ３ ＋ ４ 

① 

② 

＝ 

＋ ３ ４ ＋ ２ 

＋ ２ 

＋ ３ ４ ＋ ２ 

＝ 

＋ ４ ３ ＋ １ 

＋ １ 

＋ ４ ３ ＋ １ 

Exercise  Write a correct number in           . 

Example  Write a correct number in           . 

Good! 



③ 

④ 

＝ 

＋ ５ 1 ＋ ３ 

＋ ３ 

＋ ５ 1 ＋ ３ 

＝ 

＋ ７ １ ＋ ２ 

＋ ２ 

＋ ７ １ ＋ ２ 

＝ 

＋ ２ ４ ＋ １ 

＋ １ 

＋ ２ ４ ＋ １ ⑤ 

T9_S022 

Exercise  Write a correct number in           . 



⑥ 

⑦ 

＝ 

＋ １ ６ ＋ １ 

＋ １ 

＋ １ ６ ＋ １ 

＝ 

＋ ２ ５ ＋ ２ 

＋ ２ 

＋ ２ ５ ＋ ２ 

＝ 

＋ ４ ２ ＋ １ 

＋ １ 

＋ ４ ２ ＋ １ ⑧ 

T9_S022 

Exercise  Write a correct number in           . 



⑨ 

⑩ 

＝ 

＋ ４ １ ＋ ３ 

＋ ３ 

＋ ４ １ ＋ ３ 

＝ 

＋ ５ ３ ＋ ２ 

＋ ２ 

＋ ５ ３ ＋ ２ 

＝ 

＋ ２ ４ ＋ ２ 

＋ ２ 

＋ ２ ４ ＋ ２ ⑪ 
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Exercise  Write a correct number in           . 



⑫ 

⑬ 

＝ 

＋ ２ ３ ＋ ３ 

＋ ３ 

＋ ２ ３ ＋ ３ 

＝ 

＋ ３ ５ ＋ ２ 

＋ ２ 

＋ ３ ５ ＋ ２ 

＝ 

＋ ４ １ ＋ ４ 

＋ ４ 

＋ ４ １ ＋ ４ ⑭ 

T9_S022 

Exercise  Write a correct number in           . 



⑮ 

⑯ 

＝ 

＋ １ ２ ＋ ６ 

＋ ６ 

＋ １ ２ ＋ ６ 

＝ 

＋ ５ ３ ＋ １ 

＋ １ 

＋ ５ ３ ＋ １ 

＝ 

＋ １ ６ ＋ ２ 

＋ ２ 

＋ １ ６ ＋ ２ ⑰ 

T9_S022 
Exercise  Write a correct number in           . 



⑱ 

⑲ 

＝ 

＋ ３ ５ ＋ ２ 

＋ ２ 

＋ ３ ５ ＋ ２ 

＝ 

＋ ６ ２ ＋ １ 

＋ １ 

＋ ６ ２ ＋ １ 

＝ 

＋ ５ ２ ＋ １ 

＋ １ 

＋ ５ ２ ＋ １ ⑳ 

T9_S022 

Exercise  Write a correct number in           . 



㉑ 

㉒ 

＝ 

＋ ２ ５ ＋ １ 

＋ １ 

＋ ２ ５ ＋ １ 

＝ 

＋ ７ １ ＋ １ 

＋ １ 

＋ ７ １ ＋ １ 

＝ 

＋ ６ ３ ＋ １ 

＋ １ 

＋ ６ ３ ＋ １ ㉓ 

T9_S022 

Exercise  Write a correct number in           . 



㉔ 

㉕ 

＝ 

＋ １ ７ ＋ ２ 

＋ ２ 

＋ １ ７ ＋ ２ 

＝ 

＋ ２ １ ＋ ３ 

＋ ３ 

＋ ２ １ ＋ ３ 

＝ 

＋ ４ ２ ＋ ２ 

＋ ２ 

＋ ４ ２ ＋ ２ ㉖ 

T9_S022 

Exercise  Write a correct number in           . 



㉗ 

㉘ 

＝ 

＋ ４ １ ＋ ３ 

＋ ３ 

＋ ４ １ ＋ ３ 

＝ 

＋ ７ ２ ＋ １ 

＋ １ 

＋ ７ ２ ＋ １ 

＝ 

＋ ４ ４ ＋ １ 

＋ １ 

＋ ４ ４ ＋ １ ㉙ 

T9_S022 

Exercise  Write a correct number in           . 



㉚ 

㉛ 

＝ 

＋ ２ ５ ＋ １ 

＋ １ 

＋ ２ ５ ＋ １ 

＝ 

＋ ３ ５ ＋ ２ 

＋ ２ 

＋ ３ ５ ＋ ２ 

＝ 

＋ ２ １ ＋ ３ 

＋ ３ 

＋ ２ １ ＋ ３ ㉜ 

T9_S022 

Exercise  Write a correct number in           . 



㉝ 

㉞ 

＝ 

＋ ６ ２ ＋ １ 

＋ １ 

＋ ６ ２ ＋ １ 

＝ 

＋ ３ ３ ＋ ３ 

＋ ３ 

＋ ３ ３ ＋ ３ 

＝ 

＋ １ ７ ＋ ２ 

＋ ２ 

＋ １ ７ ＋ ２ ㉟ 

T9_S022 

Exercise  Write a correct number in           . 



㊱ 

㊲ 

＝ 

＋ ２ ２ ＋ ２ 

＋ ２ 

＋ ２ ２ ＋ ２ 

＝ 

＋ ３ １ ＋ １ 

＋ １ 

＋ ３ １ ＋ １ 

＝ 

＋ １ ２ ＋ ３ 

＋ ３ 

＋ １ ２ ＋ ３ ㊳ 

T9_S022 

Exercise  Write a correct number in           . 



＋ ２ ３ ＋ ４ ＝ 

① ＋ ２ ２ ＋ ５ ＝ 

② ＋ １ ４ ＋ ３ ＝ 

③ ＋ ３ ５ ＋ １ ＝ 

④ ＋ １ ６ ＋ ２ ＝ 

⑤ ＋ ５ ２ ＋ １ ＝ 

⑥ ＋ ６ １ ＋ １ ＝ 

T9_S022 

Exercise  Write a correct number in           . 

Example  Write a correct number in the          . 

Good! 



⑦ ＋ ３ ２ ＋ ４ ＝ 

⑧ ＋ ２ ５ ＋ ２ ＝ 

⑨ ＋ ３ ３ ＋ ３ ＝ 

⑩ ＋ １ ３ ＋ ５ ＝ 

⑪ ＋ ４ １ ＋ ２ ＝ 

⑫ ＋ ３ ３ ＋ １ ＝ 

⑬ ＋ １ ４ ＋ ２ ＝ 

⑭ ＋ ７ １ ＋ １ ＝ 

T9_S022 

Exercise  Write a correct number in           . 



⑮ ＋ ５ ４ ＋ １ ＝ 

⑯ ＋ ２ ２ ＋ ２ ＝ 

⑰ ＋ １ １ ＋ ５ ＝ 

⑱ ＋ ２ １ ＋ ７ ＝ 

⑲ ＋ １ ３ ＋ ４ ＝ 

⑳ ＋ ２ ３ ＋ １ ＝ 

㉑ ＋ ６ １ ＋ １ ＝ 

㉒ ＋ ８ １ ＋ １ ＝ 

T9_S022 

Exercise  Write a correct number in           . 



＋ ２ ３ ＋ ４ ＝ 

① ＋ ３ １ ＋ ５ ＝ ＋ ７ １ ＋ １ ＝ ② 

③ ＋ ４ ２ ＋ ２ ＝ ＋ ６ ２ ＋ １ ＝ ④ 

⑤ ＋ ５ １ ＋ ４ ＝ ＋ ２ ３ ＋ ２ ＝ ⑥ 

⑦ ＋ ３ １ ＋ ４ ＝ ＋ ３ ５ ＋ １ ＝ ⑧ 

⑨ ＋ ２ ４ ＋ ３ ＝ ＋ ５ １ ＋ ２ ＝ ⑩ 

⑪ ＋ １ ５ ＋ ４ ＝ ＋ ３ ２ ＋ ３ ＝ ⑫ 

⑬ ＋ ２ １ ＋ ３ ＝ ＋ ５ １ ＋ ２ ＝ ⑭ 

⑮ ＋ １ ２ ＋ ３ ＝ ＋ １ ４ ＋ ５ ＝ ⑯ 

⑰ ＋ ４ ３ ＋ ２ ＝ ＋ ２ ４ ＋ １ ＝ ⑱ 

T9_S022 

Exercise  Write a correct number in           . 

Good! 

Example  Write a correct number in the          . 



＋ ２ ８ ＋ ４ 

＋ ４ ＝ 

T9_S023 

＋ ２ ８ ＋ ４ 

＋ ２ ８ ＋ ４ 

＋ ４ 

Let’s add three numbers. 

Add two numbers at a time. 

We get 14 by adding 10 and 4.  

Add 2 and 8 first. 

Add 4 to the sum 10 of 2 and 8. Good! 

The sum of the 
two numbers is 10. 



① 

＝ 

＋ ２ ８ ＋ ４ 

＋ ４ 

＋ ２ ８ ＋ ４ 

② 
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＝ 

＋ ３ ７ ＋ ２ 

＋ ２ 

＋ ３ ７ ＋ ２ 

＝ 

＋ ４ ６ ＋ １ 

＋ １ 

＋ ４ ６ ＋ １ 

Good! 

Example  Write a correct number in           . 

Exercise  Write a correct number in           . 
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③ 

④ 

＝ 

＋ ５ ５ ＋ ３ 

＋ ３ 

＋ ５ ５ ＋ ３ 

＝ 

＋ ９ １ ＋ ８ 

＋ ８ 

＋ ９ １ ＋ ８ 

＝ 

＋ ６ ４ ＋ ５ 

＋ ５ 

＋ ６ ４ ＋ ５ ⑤ 

Exercise  Write a correct number in           . 
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⑥ 

⑦ 

＝ 

＋ １ ９ ＋ １ 

＋ １ 

＋ １ ９ ＋ １ 

＝ 

＋ ２ ８ ＋ ３ 

＋ ３ 

＋ ２ ８ ＋ ３ 

＝ 

＋ ８ ２ ＋ ６ 

＋ ６ 

＋ ８ ２ ＋ ６ ⑧ 

Exercise  Write a correct number in           . 
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⑨ 

⑩ 

＝ 

＋ ４ ６ ＋ ３ 

＋ ３ 

＋ ４ ６ ＋ ３ 

＝ 

＋ ７ ３ ＋ ４ 

＋ ４ 

＋ ７ ３ ＋ ４ 

＝ 

＋ ６ ４ ＋ ５ 

＋ ５ 

＋ ６ ４ ＋ ５ ⑪ 

Exercise  Write a correct number in           . 
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⑫ 

⑬ 

＝ 

＋ ２ ８ ＋ ６ 

＋ ６ 

＋ ２ ８ ＋ ６ 

＝ 

＋ ３ ７ ＋ ７ 

＋ ７ 

＋ ３ ７ ＋ ７ 

＝ 

＋ ９ １ ＋ ４ 

＋ ４ 

＋ ９ １ ＋ ４ ⑭ 

Exercise  Write a correct number in           . 
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⑮ 

⑯ 

＝ 

＋ ８ ２ ＋ ７ 

＋ ７ 

＋ ８ ２ ＋ ７ 

＝ 

＋ ５ ５ ＋ ３ 

＋ ３ 

＋ ５ ５ ＋ ３ 

＝ 

＋ １ ９ ＋ ６ 

＋ ６ 

＋ １ ９ ＋ ６ ⑰ 

Exercise  Write a correct number in           . 
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⑱ 

⑲ 

＝ 

＋ ３ ７ ＋ ９ 

＋ ９ 

＋ ３ ７ ＋ ９ 

＝ 

＋ ６ ４ ＋ ４ 

＋ ４ 

＋ ６ ４ ＋ ４ 

＝ 

＋ ８ ２ ＋ ３ 

＋ ３ 

＋ ８ ２ ＋ ３ ⑳ 

Exercise  Write a correct number in           . 



＋ ２ ８ ＋ ４ ＝ 

① ＋ ８ ２ ＋ ６ ＝ 

② ＋ ６ ４ ＋ ３ ＝ 

③ ＋ ３ ７ ＋ ８ ＝ 

④ ＋ １ ９ ＋ ４ ＝ 

⑤ ＋ ５ ５ ＋ ５ ＝ 

⑥ ＋ ９ １ ＋ ７ ＝ 
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Exercise  Write a correct number in           . 

Example  Write a correct number in           . 

Good! 



⑦ ＋ ３ ７ ＋ ４ ＝ 

⑧ ＋ ２ ８ ＋ ２ ＝ 

⑨ ＋ ６ ４ ＋ ９ ＝ 

⑩ ＋ ７ ３ ＋ ５ ＝ 

⑪ ＋ ４ ６ ＋ ２ ＝ 

⑫ ＋ ８ ２ ＋ ７ ＝ 

⑬ ＋ １ ９ ＋ ８ ＝ 

⑭ ＋ ９ １ ＋ １ ＝ 

T9_S023 
Exercise  Write a correct number in           . 



⑮ ＋ ５ ５ ＋ ２ ＝ 

⑯ ＋ ４ ６ ＋ ３ ＝ 

⑰ ＋ ３ ７ ＋ ５ ＝ 

⑱ ＋ ２ ８ ＋ ７ ＝ 

⑲ ＋ １ ９ ＋ ４ ＝ 

⑳ ＋ ６ ４ ＋ ８ ＝ 

㉑ ＋ ９ １ ＋ ６ ＝ 

㉒ ＋ ７ ３ ＋ ４ ＝ 

T9_S023 

Exercise  Write a correct number in           . 



＋ ２ ８ ＋ ４ ＝ 

① ＋ ３ ７ ＋ ５ ＝ ＋ ７ ３ ＋ ４ ＝ ② 

③ ＋ ４ ６ ＋ ２ ＝ ＋ ６ ４ ＋ ２ ＝ ④ 

⑤ ＋ ５ ５ ＋ ４ ＝ ＋ ２ ８ ＋ ７ ＝ ⑥ 

⑦ ＋ ９ １ ＋ ６ ＝ ＋ ３ ７ ＋ ４ ＝ ⑧ 

⑨ ＋ ６ ４ ＋ ７ ＝ ＋ ９ １ ＋ ８ ＝ ⑩ 

⑪ ＋ １ ９ ＋ ４ ＝ ＋ ８ ２ ＋ ６ ＝ ⑫ 

⑬ ＋ ２ ８ ＋ ５ ＝ ＋ ５ ５ ＋ ７ ＝ ⑭ 

⑮ ＋ ８ ２ ＋ ３ ＝ ＋ １ ９ ＋ ５ ＝ ⑯ 

⑰ ＋ ４ ６ ＋ １ ＝ ＋ ６ ４ ＋ ９ ＝ ⑱ 

T9_S023 

Exercise  Write a correct number in           . 

Good! 

Example  Write a correct number in           . 



１４ ＋ ２ 
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＋ ３ 

１４ ＋ ２ ＋ ３ 

１４ ＋ ２ ＝ 

add 

＋ ３ ＝ 

add 

Add two numbers at a time. 

Add 14 and 2 first. 

Add 3 to the sum 16 of 14 and 2. 

Good! 

We can add 3 to 6 of 16. 

We can add 
2 to the 4 
of 14.  

Let’s add three numbers, one of 
which is bigger than 10.   



② １４ ＋ ３ ＋ １ 

add 

１４ ＋ ３ ＝ 

＋ １ 

add 

＝ 

１４ ＋ ２ ＋ ３ 

add 

＋ ３ ＝ 

１４ ＋ ２ ＝ 

T9_S024 

add 

① １３ ＋ ４ ＋ ２ 

add 

１３ ＋ ４ ＝ 

＋ ２ 

add 

＝ 

Example  Write a correct number in           . 

Exercise  Write a correct number in           . 

Good! 



④ １６ ＋ １ ＋ １ 

add 

１６ ＋ １ ＝ 

＋ １ 

add 

＝ 

③ １５ ＋ １ ＋ ３ 

add 

１５ ＋ １ ＝ 

＋ ３ 

add 

＝ 
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⑥ １１ ＋ ６ ＋ １ 

add 

１１ ＋ ６ ＝ 

＋ １ 

add 

＝ 

⑤ １２ ＋ ４ ＋ １ 

add 

１２ ＋ ４ ＝ 

＋ １ 

add 

＝ 

Exercise  Write a correct number in           . 



⑧ １５ ＋ ２ ＋ ２ 

add 

１５ ＋ ２ ＝ 

＋ ２ 

add 

＝ 

⑦ １４ ＋ １ ＋ ３ 

add 

１４ ＋ １ ＝ 

＋ ３ 

add 

＝ 
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⑩ １２ ＋ ３ ＋ ３ 

add 

１２ ＋ ３ ＝ 

＋ ３ 

add 

＝ 

⑨ １２ ＋ ４ ＋ ２ 

add 

１２ ＋ ４ ＝ 

＋ ２ 

add 

＝ 

Exercise  Write a correct number in           . 



⑫ １４ ＋ １ ＋ ４ 

add 

１４ ＋ １ ＝ 

＋ ４ 

add 

＝ 

⑪ １３ ＋ ３ ＋ ２ 

add 

１３ ＋ ３ ＝ 

＋ ２ 

add 

＝ 
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⑭ １５ ＋ ３ ＋ １ 

add 

１５ ＋ ３ ＝ 

＋ １ 

add 

＝ 

⑬ １１ ＋ ２ ＋ ６ 

add 

１１ ＋ ２ ＝ 

＋ ６ 

add 

＝ 

Exercise  Write a correct number in           . 



⑯ １３ ＋ ５ ＋ １ 

add 

１３ ＋ ５ ＝ 

＋ １ 

add 

＝ 

⑮ １１ ＋ ６ ＋ ２ 

add 

１１ ＋ ６ ＝ 

＋ ２ 

add 

＝ 
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⑱ １５ ＋ ２ ＋ １ 

add 

１５ ＋ ２ ＝ 

＋ １ 

add 

＝ 

⑰ １６ ＋ ２ ＋ １ 

add 

１６ ＋ ２ ＝ 

＋ １ 

add 

＝ 

Exercise  Write a correct number in           . 



⑳ １７ ＋ １ ＋ １ 

add 

１７ ＋ １ ＝ 

＋ １ 

add 

＝ 

⑲ １２ ＋ ５ ＋ １ 

add 

１２ ＋ ５ ＝ 

＋ １ 

add 

＝ 
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㉒ １１ ＋ ７ ＋ １ 

add 

１１ ＋ ７ ＝ 

＋ １ 

add 

＝ 

㉑ １６ ＋ １ ＋ ２ 

add 

１６ ＋ １ ＝ 

＋ ２ 

add 

＝ 

Exercise  Write a correct number in           . 



㉔ １５ ＋ ２ ＋ １ 

add 

１５ ＋ ２ ＝ 

＋ １ 

add 

＝ 

㉓ １４ ＋ １ ＋ ３ 

add 

１４ ＋ １ ＝ 

＋ ３ 

add 

＝ 
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㉖ １２ ＋ ５ ＋ １ 

add 

１２ ＋ ５ ＝ 

＋ １ 

add 

＝ 

㉕ １４ ＋ ４ ＋ １ 

add 

１４ ＋ ４ ＝ 

＋ １ 

add 

＝ 

Exercise  Write a correct number in           . 



＋ 12 ３ ＋ ４ ＝ 

① ＋ 13 １ ＋ ５ ＝ ＋ 17 １ ＋ １ ＝ ② 

③ ＋ 14 ２ ＋ ２ ＝ ＋ 16 ２ ＋ １ ＝ ④ 

⑤ ＋ 15 ３ ＋ １ ＝ ＋ 12 ３ ＋ ２ ＝ ⑥ 

⑦ ＋ 13 １ ＋ ４ ＝ ＋ 13 ３ ＋ １ ＝ ⑧ 

⑨ ＋ 12 ４ ＋ ３ ＝ ＋ 15 １ ＋ ２ ＝ ⑩ 

⑪ ＋ 11 １ ＋ ４ ＝ ＋ 13 ２ ＋ ３ ＝ ⑫ 

⑬ ＋ 12 １ ＋ ３ ＝ ＋ 15 ２ ＋ １ ＝ ⑭ 

⑮ ＋ 11 ２ ＋ ３ ＝ ＋ 11 ３ ＋ ２ ＝ ⑯ 

⑰ ＋ 14 ３ ＋ ２ ＝ ＋ 12 ４ ＋ １ ＝ ⑱ 

T9_S024 

Exercise  Write a correct number in           . 

Good! 

Example  Write a correct number in           . 



add 

＋ ＝ ２ ９ 

＋ ＝ ２ ９ 

add 

add 

＋ １ 10 

T09_S03 

What is the answer of “2+9”?  

Good! 

We can find it out by moving 1 of 2 onions to 9. 

We still have  
1 onion left. 
So, we have 
11 altogether. 



add 

＋ ＝ ８ ６ 

＋ ＝ ８ ６ 

add 

add 

＋ 10 ４ 

T09_S03 

What is the answer of “8+6”?  

Good! 

We can find it out by moving 2 of 6 onions to 8. 

We still have  
4 onions left. 
So, we have 
14 altogether. 



＋ 

＋ ＝ ２ ９ 
add 

add 

１ 10 

＋ ＝ ２ ９ 
add 

add 

＋ １ 10 

③ 

① ② 

④ 

＋ ＝ ２ ９ 
add 

add 

＋ １ 10 

＋ ＝ ３ ８ 
add 

add 

＋ １ 10 

＋ ＝ ４ ７ 
add 

add 

＋ １ 10 

＋ ＝ ５ ６ 
add 

add 

＋ １ 10 
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Example  Add. Good! 

Exercise  Add. 



＋ ＝ ８ ３ 
add 

add 

＋ 10 １ 

＋ ＝ ６ ５ 
add 

add 

＋ 10 １ 

＋ ＝ ９ ２ 
add 

add 

＋ 10 １ 

⑥ 

⑦ ⑧ 

⑨ 

⑤ 

⑩ 

＋ ＝ ７ ４ 
add 

add 

＋ 10 １ 

＋ ＝ ３ ９ 
add 

add 

２ 10 

＋ ＝ ４ ８ 
add 

add 

＋ ２ 10 ＋ 

T09_S03 

Exercise  Add. 



＋ ＝ ９ ３ 
add 

add 

＋ 10 ２ 

＋ ＝ ８ ４ 
add 

add 

＋ 10 ２ 

＋ ＝ ５ ７ 
add 

add 

＋ ２ 10 

＋ ＝ ６ ６ 
add 

add 

＋ ２ 10 

⑫ 

⑬ ⑭ 

⑮ 

⑪ 

⑯ ＋ ＝ ４ ９ 
add 

add 

３ 10 

＋ ＝ ７ ５ 
add 

add 

＋ 10 ２ 

＋ 
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Exercise  Add. 



＋ ＝ ６ ７ 
add 

add 

＋ ３ 10 

＋ ＝ ５ ８ 
add 

add 

＋ ３ 10 

⑱ 

⑲ ⑳ 

㉑ 

⑰ 

㉒ ＋ ＝ ５ ９ 
add 

add 

４ 10 

＋ ＝ ７ ６ 
add 

add 

＋ 10 ３ 

＋ ＝ ８ ５ 
add 

add 

＋ 10 ３ 

＋ ＝ ９ ４ 
add 

add 

＋ 10 ３ ＋ 

T09_S03 

Exercise  Add. 



＋ ＝ ８ ６ 

＋ 10 ４ 

＋ ＝ ７ ７ 
add 

add 

＋ ４ 10 

＋ ＝ ６ ８ 
add 

add 

＋ ４ 10 

㉔ 

㉕ ㉖ 

㉗ 

㉓ 

㉘ ＋ ＝ ６ ９ 
add 

add 

５ 10 

＋ ＝ ７ ８ 
add 

add 

＋ ５ 10 

＋ ＝ ９ ５ 
add 

add 

＋ 10 ４ 

＋ 

add 

add 

T09_S03 

Exercise  Add. 



＋ ＝ ８ ７ 
add 

add 

＋ 10 ５ 

＋ ＝ ９ ６ 
add 

add 

＋ 10 ５ 

＋ ＝ ７ ９ 
add 

add 

６ 10 

８ ８ 
add 

add 

＋ ６ 10 

㉚ 

㉛ ㉜ 

㉝ 

㉙ 

㉞ 

＋ ＝ 

＋ ＝ ８ ９ 
add 

add 

７ 10 

＋ ＝ ９ ７ 
add 

add 

＋ 10 ６ ＋ 

＋ 

T09_S03 

Exercise  Add. 



㉟ ㊱ ＋ ＝ ９ ９ 
add 

add 

８ 10 

＋ ＝ ９ ８ 
add 

add 

＋ 10 ７ ＋ 

８ ８ 
add 

add 

＋ ６ 10 

㊳ ＋ ＝ ＋ ＝ ６ ５ 
add 

add 

＋ 10 １ 

㊲ 

㊵ ＋ ＝ ４ ９ 
add 

add 

３ 10 

㊴ ＋ ＝ ７ ４ 
add 

add 

＋ 10 １ ＋ 

T09_S03 

Exercise  Add. 



add 

add 

＋ ＝ ２ ９ 
add 

＋ ＝ ２ ９ 

③ 
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① ② 

④ 

＋ ＝ ２ ９ 
add 

add 

＋ ＝ ３ ８ 
add 

add add 

４ ７ ＋ ＝ 

add 

＋ ＝ ５ ６ 
add 

add add 

Good! Example  Write a correct number in           . 

Exercise  Write a correct number in           . 



⑥ 

⑦ ⑧ 

⑨ 

⑤ 

⑩ ＋ ＝ ３ ９ 
add 

add 

＋ ＝ ４ ８ 
add 

add 

＋ ＝ ６ ５ 
add 

add 

＋ ＝ ７ ４ 
add 

add 

＋ ＝ ８ ３ 
add 

add 

＋ ＝ ９ ２ 
add 

add 
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Exercise  Write a correct number in           . 



⑫ 

⑬ ⑭ 

⑮ 

⑪ 

⑯ 

＋ ＝ ６ ６ 
add 

add 

＋ ＝ ５ ７ 
add 

add 

＋ ＝ ７ ５ 
add 

add 

＋ ＝ ８ ４ 
add 

add 

＋ ＝ ９ ３ 
add 

add 

＋ ＝ ４ ９ 
add 

add 
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Exercise  Write a correct number in           . 



⑱ 

⑲ ⑳ 

㉑ 

⑰ 

㉒ 

＋ ＝ ５ ８ 
add 

add 

＋ ＝ ６ ７ 
add 

add 

＋ ＝ ７ ６ 
add 

add 

＋ ＝ ８ ５ 
add 

add 

＋ ＝ ９ ４ 
add 

add 

＋ ＝ ５ ９ 
add 

add 

T09_S04 

Exercise  Write a correct number in           . 



㉔ 

㉕ ㉖ 

㉗ 

㉓ 

㉘ 

＋ ＝ ６ ８ 
add 

add 

＋ ＝ ７ ７ 
add 

add 

＋ ＝ ８ ６ 

add 

＋ ＝ ９ ５ 
add 

add 

＋ ＝ ６ ９ 
add 

add 

＋ ＝ ７ ８ 
add 

add 

add 
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Exercise  Write a correct number in           . 



㉚ 

㉛ ㉜ 

㉝ 

㉙ 

㉞ 

＋ ＝ ９ ６ 
add 

add 

＋ ＝ ８ ７ 
add 

add 

＋ ＝ ７ ９ 
add 

add 

８ ８ 
add 

＋ ＝ 

add 

＋ ＝ ９ ７ 
add 

add 

＋ ＝ ８ ９ 
add 

add 
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Exercise  Write a correct number in           . 



㉟ ㊱ ＋ ＝ ９ ８ 
add 

add 

＋ ＝ ９ ９ 
add 

add 

＋ ＝ ４ ８ 
add 

add 

㊳ ＋ ＝ ６ ６ 
add 

add 

㊲ 

㊴ ＋ ＝ ７ ５ 
add 

add 

㊵ ＋ ＝ ８ ９ 
add 

add 

T09_S04 

Exercise  Write a correct number in           . 



＋ ＝ ２ ９ 
add 
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＋ ＝ ２ ９ 
add 

add 

＋ ＝ ２ ９ ① ② ＋ ＝ ３ ８ 
add 

add 

③ ④ ＋ ＝ ４ ７ ＋ ＝ ５ ６ 
add 

add 

＋ ＝ ６ ５ ⑥ ⑤ ＋ ＝ ７ ４ 
add 

add add 

＋ ＝ ８ ３ ＋ ＝ ９ ２ ⑦ ⑧ 

Example  Add. 
Good! 

Exercise  Add. 



＋ ＝ ⑨ ⑩ ＋ ＝ ３ ９ ４ ８ 
add add 

＋ ＝ ５ ７ ＋ ＝ ６ ６ ⑫ ⑪ 

add add 

＋ ＝ ８ ４ ⑬ ⑭ ＋ ＝ ７ ５ 
add add 

＋ ＝ ９ ３ ⑮ ⑯ ＋ ＝ ４ ９ 
add add 

＋ ＝ ６ ７ ＋ ＝ ５ ８ ⑱ ⑰ 

add add 

⑲ ⑳ ＋ ＝ ７ ６ ＋ ＝ ８ ５ 
add add 

T09_S05 

Exercise  Add. 



＋ ＝ ８ ７ ＋ ＝ ９ ６ ㉚ ㉙ 

add add 

㉑ ㉒ ＋ ＝ ５ ９ ＋ ＝ ９ ４ 
add add 

＋ ＝ ７ ７ ＋ ＝ ６ ８ ㉔ ㉓ 

add add 

＋ ＝ ８ ６ ㉕ ㉖ ＋ ＝ ９ ５ 
add add 

＋ ＝ ７ ９ ８ ８ ㉛ ㉜ ＋ ＝ 

add add 

㉗ ㉘ ＋ ＝ ６ ９ ＋ ＝ ７ ８ 
add add 

T09_S05 

Exercise  Add. 



㉝ ㉞ ＋ ＝ ８ ９ ＋ ＝ ９ ７ 
add add 

㉟ ㊱ ＋ ＝ ９ ９ ＋ ＝ ９ ８ 
add add 

＋ ＝ ２ ９ ㊲ ㊳ ＋ ＝ ３ ８ 
add add 

add add 

＋ ＝ ８ ３ ＋ ＝ ９ ２ ㊸ ㊹ 

add add 

㊴ ㊵ ＋ ＝ ４ ７ ＋ ＝ ５ ６ 

＋ ＝ ６ ５ ㊷ ㊶ ＋ ＝ ７ ４ 
add add 

T09_S05 

Exercise  Add. 



＋ ＝ ㊺ ㊻ ＋ ＝ ３ ９ ４ ８ 
add add 

＋ ＝ ５ ７ ＋ ＝ ６ ６ ㊽ ㊼ 

＋ ＝ ８ ４ ㊾ ＋ ＝ ７ ５ 

＋ ＝ ９ ３ ＋ ＝ ４ ９ 

＋ ＝ ６ ７ ＋ ＝ ５ ８ 
add add 

＋ ＝ ７ ６ ＋ ＝ ８ ５ 
add add 

add add 

add add 

add add 

50 

51 52 

53 54 

55 56 

T09_S05 

Exercise  Add. 



63 64 

65 66 

67 68 

57 58 

59 60 

61 62 

＋ ＝ ５ ９ ＋ ＝ ９ ４ 
add add 

＋ ＝ ７ ７ ＋ ＝ ６ ８ 
add add 

＋ ＝ ８ ６ ＋ ＝ ９ ５ 
add add 

＋ ＝ ６ ９ ＋ ＝ ７ ８ 
add add 

＋ ＝ ８ ７ ＋ ＝ ９ ６ 
add add 

＋ ＝ ７ ９ ８ ８ ＋ ＝ 

add add 

T09_S05 

Exercise  Add. 



73 74 

75 76 

69 70 

71 72 

＋ ＝ ８ ９ 
add 

＋ ＝ ９ ７ 
add 

＋ ＝ ９ ９ 
add 

＋ ＝ ９ ８ 
add 

＋ ＝ ２ ９ ＋ ＝ ３ ８ 

＋ ＝ ４ ７ ＋ ＝ ５ ６ 

＋ ＝ ６ ５ ＋ ＝ ７ ４ 

＋ ＝ ８ ３ ＋ ＝ ９ ２ 

＋ ＝ ３ ９ ＋ ＝ ４ ８ 

＋ ＝ ５ ７ ＋ ＝ ６ ６ 

＋ ＝ ７ ５ ＋ ＝ ８ ４ 

＋ ＝ ９ ３ ＋ ＝ ４ ９ 

77 78 

79 80 

81 82 

83 84 

85 86 

87 88 
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Exercise  Add. 



＋ ＝ ５ ８ ＋ ＝ ６ ７ 

＋ ＝ ７ ６ ＋ ＝ ８ ５ 

＋ ＝ ９ ４ ＋ ＝ ５ ９ 

＋ ＝ ６ ８ ＋ ＝ ７ ７ 

＋ ＝ ８ ６ ＋ ＝ ９ ５ 

＋ ＝ ６ ９ ＋ ＝ ７ ８ 

＋ ＝ ８ ７ ＋ ＝ ９ ６ 

＋ ＝ ７ ９ ＋ ＝ ８ ８ 

＋ ＝ ９ ７ ＋ ＝ ８ ９ 

＋ ＝ ９ ８ ＋ ＝ ９ ９ 

89 90 

91 92 

93 94 

95 96 

97 98 

99 100 

101 102 

103 104 

105 106 

107 108 
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Exercise  Add. 



＋ ＝ ５ ８ ＋ ＝ ６ ７ 109 110 

＋ ＝ ９ ３ ＋ ＝ ８ ３ 111 112 

＋ ＝ ７ ４ ＋ ＝ ２ ９ 113 114 

＋ ＝ ６ ６ ＋ ＝ ８ ７ 115 116 

＋ ＝ ７ ７ ＋ ＝ ９ ４ 125 126 

＋ ＝ ３ ９ ＋ ＝ ６ ９ 127 128 

＋ ＝ ５ ９ ＋ ＝ ３ ８ 129 130 

＋ ＝ ７ ５ ＋ ＝ ５ ７ 131 132 

＋ ＝ ８ ６ ＋ ＝ ９ ５ 117 118 

＋ ＝ ４ ７ ＋ ＝ ５ ６ 119 120 

＋ ＝ ６ ５ ＋ ＝ ７ ８ 121 122 

＋ ＝ ８ ９ ＋ ＝ ４ ８ 123 124 
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Exercise  Add. 



subtract 
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① ② 

－ ＝ 10 ２ － ＝ 10 ２ 

subtract 

－ ＝ 10 ２ 

subtract 

－ ＝ 10 １ 

subtract 

－ ＝ 10 ３ 

subtract 

－ ＝ 10 ４ 

subtract 

－ ＝ 10 ５ 

subtract 

－ ＝ 10 ６ 

③ ④ 

⑤ ⑥ 

⑦ ⑧ 
subtract 

－ ＝ 10 ７ 

subtract 

－ ＝ 10 ８ 

subtract 

Example  Subtract. 

Good! 

Exercise Subtract. 



⑨ ⑩ 
subtract 

－ ＝ 10 10 
subtract 

－ ＝ 10 ９ 

10 

10 

10 

10 

10 

－ 

－ 

－ 

－ 

－ 

＝ 

＝ 

＝ 

＝ 

＝ 

１ 

５ 

７ 

３ 

９ 

10 

10 

10 

10 

10 

－ 

－ 

－ 

－ 

－ 

＝ 

＝ 

＝ 

＝ 

＝ 

２ 

６ 

８ 

４ 

10 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 

⑰ ⑱ 

⑲ ⑳ 

T10_S01 

Exercise Subtract. 



T10_S011 

－ ３ ＝ １４ 

has 14                  . 
                     tomatoes The number is bigger than 10. 

 gave            three tomatoes. How many tomatoes does               have? 

Good! 

give 

give 

The remainder is … 



１８ － ５ 

subtract 

－ ５ １８ 

subtract 

－ ５ １８ ＝ 

T10_S011 

Let’s subtract from a number bigger than 10.   

Good! 

18 is a number which consists of 10 and 8. 

We can subtract 5 
from 8 of 18.  

8－5＝3 
We add 10 and 3 to get 13. 



－ １８ ５ ＝ 

subtract 

① ② 

③ ④ 

－ １５ ３ ＝ 

subtract 

－ １９ ６ ＝ 

subtract 

⑤ ⑥ 
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－ １３ ２ ＝ 

subtract 

－ １７ ４ ＝ 

subtract 

－ １６ ５ ＝ 

subtract 

－ １１ １ ＝ 

subtract 

Exercise  Write a correct number in the          . 

Example  Write a correct number in the          . 

Good! 



⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 
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－ １２ １ ＝ 

subtract 

－ １３ ３ ＝ 

subtract 

－ １８ ３ ＝ 

subtract 

－ １６ ４ ＝ 

subtract 

－ １５ ４ ＝ 

subtract 

－ １７ ２ ＝ 

subtract 

－ １６ ２ ＝ 

subtract 

－ １５ ０ ＝ 

subtract 

－ １３ １ ＝ 

subtract 

－ １４ ３ ＝ 

subtract 

Exercise  Write a correct number in the          . 



⑰ ⑱ 

⑲ ⑳ 

㉑ ㉒ 

㉓ ㉔ 

㉕ ㉖ 
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－ １９ ２ ＝ 

subtract 

－ １８ ２ ＝ 

subtract 

－ １８ ４ ＝ 

subtract 

－ １７ ３ ＝ 

subtract 

－ １６ ６ ＝ 

subtract 

－ １９ ８ ＝ 

subtract 

－ １２ ２ ＝ 

subtract 

－ １８ ７ ＝ 

subtract 

－ １７ ５ ＝ 

subtract 

－ １９ ５ ＝ 

subtract 

Exercise  Write a correct number in the          . 



㉗ ㉘ 

㉙ ㉚ 

㉛ ㉜ 

㉝ ㉞ 

㉟ ㊱ 
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－ １７ ６ ＝ 

subtract 

－ １４ ２ ＝ 

subtract 

－ １９ ７ ＝ 

subtract 

－ １８ １ ＝ 

subtract 

－ １８ ８ ＝ 

subtract 

－ １６ ３ ＝ 

subtract 

－ １９ ３ ＝ 

subtract 

－ １７ １ ＝ 

subtract 

－ １９ １ ＝ 

subtract 

－ １８ ６ ＝ 

subtract 

Exercise  Write a correct number in the          . 



㊲ ㊳ 

㊴ ㊵ 

㊶ ㊷ 

㊸ ㊹ 

㊺ 
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－ １６ １ ＝ 

subtract 

－ １４ １ ＝ 

subtract 

－ １８ ２ ＝ 

subtract 

－ １７ ７ ＝ 

subtract 

－ １９ ４ ＝ 

subtract 

－ １９ ９ ＝ 

subtract 

－ １５ １ ＝ 

subtract 

－ １８ ５ ＝ 

subtract 

－ １４ ３ ＝ 

subtract 

㊻ － １７ ２ ＝ 

subtract 

Exercise  Write a correct number in the          . 



－ １４ １ ＝ 

① ② － １６ ２ ＝ － １７ １ ＝ 

③ ④ － １３ ３ ＝ － １８ ６ ＝ 

⑤ ⑥ － １９ １ ＝ － １９ ３ ＝ 

⑦ ⑧ － １９ ４ ＝ － １２ ２ ＝ 

⑨ ⑩ － １８ ７ ＝ － １４ ３ ＝ 

⑪ ⑫ － １９ ６ ＝ － １６ ４ ＝ 

⑬ ⑭ － １１ １ ＝ － １７ ７ ＝ 

⑮ ⑯ － １８ １ ＝ － １３ １ ＝ 

⑰ ⑱ － １４ ２ ＝ － １６ １ ＝ 

⑲ ⑳ － １７ ３ ＝ － １８ ４ ＝ 
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Exercise  Write a correct number in the          . 

Good! 

Example  Write a correct number in the          . 



㉑ ㉒ － １９ ８ ＝ － １５ ２ ＝ 

㉓ ㉔ － １５ ３ ＝ － １７ ２ ＝ 

㉕ ㉖ － １８ ８ ＝ － １５ ０ ＝ 

㉗ ㉘ － １４ ４ ＝ － １６ ５ ＝ 

㉙ ㉚ － １７ ６ ＝ － １８ ５ ＝ 

㉛ ㉜ － １５ １ ＝ － １９ ５ ＝ 

㉝ ㉞ － １９ ２ ＝ － １２ １ ＝ 

㉟ ㊱ － １３ ２ ＝ － １９ ７ ＝ 

㊲ ㊳ － １９ ４ ＝ － １８ ２ ＝ 

㊴ ㊵ － １６ ３ ＝ － １４ １ ＝ 

㊶ ㊷ － １７ ４ ＝ － １７ ５ ＝ 

㊸ ㊹ － １８ ３ ＝ － １６ ６ ＝ 

T10_S011 
Exercise  Write a correct number in the          . 



T10_S012 

has 8            . 
              tomatoes 

give 

give 

give 

 gave            three           .  

Good! 
Three! 

 also gave            two          . How many tomatoes left? 

 There are 5 tomatoes left 
after giving 3 tomatoes 

The remainder is … 



subtract 

subtract 

subtract 

subtract 

－ ＝ － 

－ ＝ － 

T10_S012 

Let’s write a number sentence of “subtraction” for this picture.  

give 

give 

The remainder is … 

Good! 

The remainder is … 

The remainder is … 

Write the number of tomatoes in the         .  

We can write in subtraction of three numbers.  



－ ８ ３ － ４ 

－ ８ ３ ＝ 

subtract 

－ ８ ３ － ４ 

subtract 

－ ４ ＝ 

T10_S012 

Let’s do subtraction of three numbers.   

Subtract one by one. 

Good! 

First, subtract 3 from 8. 

We get 5 by subtracting 
3 from 8.  
Subtract 4  
from the 5. 

We can subtract two numbers. 



－ － ４ ２ １ 

subtract 

subtract 

－ ４ ２ ＝ 

－ １ ＝ 

－ － ８ ２ ４ 

subtract 

subtract 

－ ８ ２ ＝ 

－ ４ ＝ 

－ ９ ２ － ３ 

② 

③ 

－ ９ ２ ＝ 

－ ３ ＝ 

① 

T10_S012 

subtract 

subtract 

－ － ７ ２ １ 

subtract 

subtract 

－ ７ ２ ＝ 

－ １ ＝ 

－ － ９ １ ３ 

subtract 

subtract 

－ ９ １ ＝ 

－ ３ ＝ 

④ 

Good! 

Example  Write a correct number in           . 

Exercise  Write a correct number in           . 
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⑧ 

⑨ ⑩ 

⑦ 

⑤ ⑥ － － ７ １ ４ 

subtract 

subtract 

－ ７ １ ＝ 

－ ４ ＝ 

－ － ８ ６ １ 

subtract 

subtract 

－ ８ ６ ＝ 

－ １ ＝ 

－ － ６ ２ ３ 

subtract 

subtract 

－ ６ ２ ＝ 

－ ３ ＝ 

－ － ７ ４ ２ 

subtract 

subtract 

－ ７ ４ ＝ 

－ ２ ＝ 

－ － ７ ３ １ 

subtract 

subtract 

－ ７ ３ ＝ 

－ １ ＝ 

－ － ８ ４ ３ 

subtract 

subtract 

－ ８ ４ ＝ 

－ ３ ＝ 

Exercise  Write a correct number in           . 
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⑭ 

⑮ ⑯ 

⑬ 

⑪ ⑫ － － ８ ３ ３ 

subtract 

subtract 

－ ８ ３ ＝ 

－ ３ ＝ 

－ － 10 ２ ５ 

subtract 

subtract 

－ 10 ２ ＝ 

－ ５ ＝ 

－ － ９ ４ １ 

subtract 

subtract 

－ ９ ４ ＝ 

－ １ ＝ 

－ － ９ ５ ２ 

subtract 

subtract 

－ ９ ５ ＝ 

－ ２ ＝ 

－ － ８ １ ２ 

subtract 

subtract 

－ ８ １ ＝ 

－ ２ ＝ 

－ － 10 ３ ４ 

subtract 

subtract 

－ 10 ３ ＝ 

－ ４ ＝ 

Exercise  Write a correct number in           . 
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⑳ 

㉑ ㉒ 

⑲ 

⑰ ⑱ － － ６ ３ １ 

subtract 

subtract 

－ ６ ３ ＝ 

－ １ ＝ 

－ － ８ ２ ２ 

subtract 

subtract 

－ ８ ２ ＝ 

－ ２ ＝ 

－ － ８ ３ １ 

subtract 

subtract 

－ ８ ３ ＝ 

－ １ ＝ 

－ － 10 １ ２ 

subtract 

subtract 

－ 10 １ ＝ 

－ ２ ＝ 

－ － ９ １ ４ 

subtract 

subtract 

－ ９ １ ＝ 

－ ４ ＝ 

－ － ８ １ ５ 

subtract 

subtract 

－ ８ １ ＝ 

－ ５ ＝ 

Exercise  Write a correct number in           . 
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㉖ 

㉗ ㉘ 

㉕ 

㉓ ㉔ － － 10 ５ ３ 

subtract 

subtract 

－ 10 ５ ＝ 

－ ３ ＝ 

－ － ６ １ ２ 

subtract 

subtract 

－ ６ １ ＝ 

－ ２ ＝ 

－ － ９ １ ２ 

subtract 

subtract 

－ ９ １ ＝ 

－ ２ ＝ 

－ － ９ ３ ３ 

subtract 

subtract 

－ ９ ３ ＝ 

－ ３ ＝ 

－ － ７ １ ３ 

subtract 

subtract 

－ ７ １ ＝ 

－ ３ ＝ 

－ － ５ １ ３ 

subtract 

subtract 

－ ５ １ ＝ 

－ ３ ＝ 

Exercise  Write a correct number in           . 



－ ８ ５ － ２ ＝ 
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＝ ＝ 

＝ ＝ 

＝ ＝ 

＝ ＝ 

＝ ＝ 

＝ ＝ 

② ① － ７ ２ － １ － ８ ２ － ４ 

③ ④ － ９ １ － ３ － ９ ７ － １ 

－ ７ １ － ４ － ８ ６ － １ ⑤ ⑥ 

⑧ ⑦ － ９ ２ － ５ － ７ ２ － ４ 

⑨ ⑩ － ７ ３ － １ － ８ ２ － ４ 

－ ８ ３ － ３ － 10 ２ － ５ ⑪ ⑫ 

Exercise  Write a correct number in           . 

Good! 

Example  Write a correct number in           . 



T10_S012 

＝ ＝ 

＝ ＝ 

＝ ＝ 

＝ ＝ 

＝ ＝ 

＝ ＝ 

＝ ＝ 

＝ ＝ 

⑭ ⑬ － ９ ４ － １ － ９ ２ － １ 

⑮ ⑯ － ８ １ － ２ － 10 １ － ３ 

－ ６ ３ － １ － ８ ２ － ２ ⑰ ⑱ 

⑳ ⑲ － ８ ３ － １ － 10 １ － ２ 

㉑ ㉒ － ９ １ － ４ － ８ １ － ５ 

－ ６ ２ － ２ － ５ ２ － ２ ㉙ ㉚ 

㉜ ㉛ － ９ ２ － ６ － ８ ２ － １ 

㉝ ㉞ － ７ １ － ３ － ５ ２ － １ 

Exercise  Write a correct number in           . 



① － ７ ２ － ４ ＝ － ８ ６ － １ ＝ ② 

③ － ９ ５ － ２ ＝ － ７ ２ － ４ ＝ ④ 

⑤ － ７ １ － ３ ＝ － ８ １ － ４ ＝ ⑥ 

⑦ － ６ ３ － ２ ＝ － 10 ８ － １ ＝ ⑧ 

⑨ － ９ ５ － １ ＝ － ９ １ － ４ ＝ ⑩ 

⑪ － ８ ３ － ２ ＝ － 10 ２ － ３ ＝ ⑫ 

⑬ － 10 ２ － ５ ＝ － ６ ２ － １ ＝ ⑭ 

⑮ － ８ １ － ３ ＝ － ９ ３ － ３ ＝ ⑯ 

⑰ － ７ ２ － ３ ＝ － ５ １ － ３ ＝ ⑱ 

－ ８ ５ － ２ ＝ 

T10_S012 

Exercise  Write a correct number in           . 

Good! 

Example  Write a correct number in           . 



１４ － ４ － ７ 

１４ － ４ － ７ 

１４ － ４ ＝ 

subtract 

－ ７ ＝ 

subtract 

T10_S013 

Let’s subtract three numbers, one of which is bigger than 10.   

Subtract one by one. 

Good! 

First, subtract 4 from 14. 

Subtract 7 from the 10. 

Subtracting 7 from 10 is easy. 

We get 10 by 
subtracting 4 
from 4 of 14. 



① 

１２ － ２ － ４ 

－ ４ ＝ 

１２ － ２ ＝ 

② 

subtract 

１６ ６ ７ － － 

subtract 

T10_S013 

subtract 

１６ ６ － ＝ 

７ － ＝ 

subtract 

１３ ３ ５ － － 

subtract 

１３ ３ － ＝ 

５ － ＝ 

subtract 

Example  Write a correct number in           . 

Exercise  Write a correct number in           . 

Good! 
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③ ④ １２ ２ １ － － 

subtract 

１２ ２ － ＝ 

１ － ＝ 

subtract 

１４ ４ ５ － － 

subtract 

１４ ４ － ＝ 

５ － ＝ 

subtract 

⑤ ⑥ １９ ９ ７ － － 

subtract 

１９ ９ － ＝ 

７ － ＝ 

subtract 

１５ ５ ２ － － 

subtract 

１５ ５ － ＝ 

２ － ＝ 

subtract 

Exercise  Write a correct number in           . 
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⑦ ⑧ １７ ７ ４ － － 

subtract 

１７ ７ － ＝ 

４ － ＝ 

subtract 

１１ １ ４ － － 

subtract 

１１ １ － ＝ 

４ － ＝ 

subtract 

⑨ ⑩ １８ ８ ２ － － 

subtract 

１８ ８ － ＝ 

２ － ＝ 

subtract 

１６ ６ ３ － － 

subtract 

１６ ６ － ＝ 

３ － ＝ 

subtract 

Exercise  Write a correct number in           . 
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⑪ ⑫ １２ ２ ９ － － 

subtract 

１２ ２ － ＝ 

９ － ＝ 

subtract 

１５ ５ １ － － 

subtract 

１５ ５ － ＝ 

１ － ＝ 

subtract 

⑬ ⑭ １８ ８ ６ － － 

subtract 

１８ ８ － ＝ 

６ － ＝ 

subtract 

１４ ４ ４ － － 

subtract 

１４ ４ － ＝ 

４ － ＝ 

subtract 

Exercise  Write a correct number in           . 
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⑮ ⑯ １９ ９ ２ － － 

subtract 

１９ ９ － ＝ 

２ － ＝ 

subtract 

１３ ３ ７ － － 

subtract 

１３ ３ － ＝ 

７ － ＝ 

subtract 

⑰ ⑱ １４ ４ ９ － － 

subtract 

１４ ４ － ＝ 

９ － ＝ 

subtract 

１２ ２ ８ － － 

subtract 

１２ ２ － ＝ 

８ － ＝ 

subtract 

Exercise  Write a correct number in           . 
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⑲ ⑳ １１ １ ７ － － 

subtract 

１１ １ － ＝ 

７ － ＝ 

subtract 

１７ ７ ３ － － 

subtract 

１７ ７ － ＝ 

３ － ＝ 

subtract 

㉑ ㉒ １８ ８ ５ － － 

subtract 

１８ ８ － ＝ 

５ － ＝ 

subtract 

１６ ６ ３ － － 

subtract 

１６ ６ － ＝ 

３ － ＝ 

subtract 

Exercise  Write a correct number in           . 
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㉓ ㉔ １８ ８ ４ － － 

subtract 

１８ ８ － ＝ 

４ － ＝ 

subtract 

１３ ３ ７ － － 

subtract 

１３ ３ － ＝ 

７ － ＝ 

subtract 

㉕ ㉖ １４ ４ ９ － － 

subtract 

１４ ４ － ＝ 

９ － ＝ 

subtract 

１７ ７ １ － － 

subtract 

１７ ７ － ＝ 

１ － ＝ 

subtract 

Exercise  Write a correct number in           . 
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㉗ ㉘ １９ ９ ２ － － 

subtract 

１９ ９ － ＝ 

２ － ＝ 

subtract 

１５ ５ ６ － － 

subtract 

１５ ５ － ＝ 

６ － ＝ 

subtract 

㉙ ㉚ １２ ２ ２ － － 

subtract 

１２ ２ － ＝ 

２ － ＝ 

subtract 

１１ １ ９ － － 

subtract 

１１ １ － ＝ 

９ － ＝ 

subtract 

Exercise  Write a correct number in           . 



－ 12 ２ － ４ ＝ 

① － 13 ３ － ５ ＝ － 17 ７ － ６ ＝ ② 

③ － 14 ４ － ３ ＝ － 16 ６ － ７ ＝ ④ 

⑤ － 15 ５ － ４ ＝ － 12 ２ － ８ ＝ ⑥ 

⑦ － 19 ９ － ９ ＝ － 18 ８ － １ ＝ ⑧ 

⑨ － 18 ８ － ３ ＝ － 15 ５ － ２ ＝ ⑩ 

⑪ － 19 ９ － ４ ＝ － 13 ３ － ６ ＝ ⑫ 

⑬ － 12 ２ － ８ ＝ － 16 ６ － ９ ＝ ⑭ 

⑮ － 11 １ － ７ ＝ － 17 ７ － ５ ＝ ⑯ 

⑰ － 14 ４ － ２ ＝ － 12 ２ － １ ＝ ⑱ 
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Exercise  Write a correct number in           . 

Example  Write a correct number in           . 

Good! 



１７ － ４ － ２ 

１７ － ４ － ２ 

１７ － ４ ＝ 

subtract 

－ ２ ＝ 

subtract 

T10_S014 

Good! 

Let’s do subtraction of three numbers, 
one of which is bigger than 10.   

Subtract one by one. 

We subtract 4 
from 7 of 17.  

First, subtract 4 from 17.  

We get 13 by subtracting 4 from 17.  
Subtract 2 from 
 the 13.  

We can just subtract 2 from 3 of 13. 



１９ － ２ － ４ 

－ ４ ＝ 

１９ － ２ ＝ 

T10_S014 

subtract 

subtract 

① １６ － ４ － １ 

subtract 

１６ － ４ ＝ 

－ １ 

subtract 

＝ 

② １５ － ２ － ３ 

subtract 

１５ － ２ ＝ 

－ ３ 

subtract 

＝ 

Good! 

Exercise  Write a correct number in           . 

Example  Write a correct number in           . 



T10_S014 

③ １２ － １ － １ 

subtract 

１２ － １ ＝ 

－ １ 

subtract 

＝ 

④ １４ － １ － ２ 

subtract 

１４ － １ ＝ 

－ ２ 

subtract 

＝ 

⑤ １９ － ４ － ３ 

subtract 

１９ － ４ ＝ 

－ ３ 

subtract 

＝ 

⑥ １５ － ３ － １ 

subtract 

１５ － ３ ＝ 

－ １ 

subtract 

＝ 

Exercise  Write a correct number in           . 



T10_S014 

⑦ １７ － ５ － １ 

subtract 

１７ － ５ ＝ 

－ １ 

subtract 

＝ 

⑧ １６ － ４ － １ 

subtract 

１６ － ４ ＝ 

－ １ 

subtract 

＝ 

⑨ １８ － ３ － ４ 

subtract 

１８ － ３ ＝ 

－ ４ 

subtract 

＝ 

⑩ １６ － ２ － ３ 

subtract 

１６ － ２ ＝ 

－ ３ 

subtract 

＝ 

Exercise  Write a correct number in           . 



T10_S014 

⑪ １４ － ２ － ２ 

subtract 

１４ － ２ ＝ 

－ ２ 

subtract 

＝ 

⑫ １５ － ４ － １ 

subtract 

１５ － ４ ＝ 

－ １ 

subtract 

＝ 

⑬ １８ － ２ － ５ 

subtract 

１８ － ２ ＝ 

－ ５ 

subtract 

＝ 

⑭ １４ － ３ － １ 

subtract 

１４ － ３ ＝ 

－ １ 

subtract 

＝ 

Exercise  Write a correct number in           . 



T10_S014 

⑮ １９ － ６ － ２ 

subtract 

１９ － ６ ＝ 

－ ２ 

subtract 

＝ 

⑯ １３ － ２ － １ 

subtract 

１３ － ２ ＝ 

－ １ 

subtract 

＝ 

⑰ １４ － １ － ２ 

subtract 

１４ － １ ＝ 

－ ２ 

subtract 

＝ 

⑱ １７ － ２ － ４ 

subtract 

１７ － ２ ＝ 

－ ４ 

subtract 

＝ 

Exercise  Write a correct number in           . 



T10_S014 

⑲ １９ － ５ － ２ 

subtract 

１９ － ５ ＝ 

－ ２ 

subtract 

＝ 

⑳ １７ － １ － ５ 

subtract 

１７ － １ ＝ 

－ ５ 

subtract 

＝ 

㉑ １８ － ３ － ２ 

subtract 

１８ － ３ ＝ 

－ ２ 

subtract 

＝ 

㉒ １６ － ４ － １ 

subtract 

１６ － ４ ＝ 

－ １ 

subtract 

＝ 

Exercise  Write a correct number in           . 



T10_S014 

㉓ １８ － ３ － ３ 

subtract 

１８ － ３ ＝ 

－ ３ 

subtract 

＝ 

㉔ １３ － ２ － １ 

subtract 

１３ － ２ ＝ 

－ １ 

subtract 

＝ 

㉕ １４ － １ － １ 

subtract 

１４ － １ ＝ 

－ １ 

subtract 

＝ 

㉖ １７ － ４ － １ 

subtract 

１７ － ４ ＝ 

－ １ 

subtract 

＝ 

Exercise  Write a correct number in           . 



－ 18 ２ － ４ ＝ 

① － 13 １ － ２ ＝ － 17 ２ － ４ ＝ ② 

③ － 14 ３ － １ ＝ － 16 ３ － 1 ＝ ④ 

⑤ － 15 １ － ４ ＝ － 12 １ － １ ＝ ⑥ 

⑦ － 19 ２ － ６ ＝ － 18 ４ － １ ＝ ⑧ 

⑨ － 18 ５ － １ ＝ － 15 １ － ２ ＝ ⑩ 

⑪ － 19 ６ － ２ ＝ － 13 １ － ２ ＝ ⑫ 

⑬ － 17 ２ － ４ ＝ － 16 ３ － ２ ＝ ⑭ 

⑮ － 16 １ － ３ ＝ － 17 ４ － １ ＝ ⑯ 

⑰ － 15 ２ － ２ ＝ － 19 ３ － ４ ＝ ⑱ 

T10_S014 

Exercise  Write a correct number in           . 

Good! 

Example  Write a correct number in           . 



T10_S015 

has  10            . 
               tomatoes 

She  gave          four          . 

give 

give       get 

Good! 

We get 6 by 
subtracting 4 from 10. 

Nine! 

How many are there? 

gave            three        . How many tomatoes are there in total? 



－ ＝ ＋ 

－ ＝ ＋ 

T10_S015 

give       get 

give       get 

give       get 

How many are there? 

How many are there? 

How many are there? 

Good! 

Write the number of tomatoes in the          . 

Write a number sentence of this picture. 

There are both addition and subtraction in 1 number sentence. 



１５ － ２ ＋ ４ 

１５ － ２ ＋ ４ 

１５ － ２ ＝ 

subtract 

＋ ４ ＝ 

add 

T10_S015 

Let’s calculate a number sentence which 
includes both addition and subtraction. 

Calculate in order from the head 
of the number sentence. 

First, subtract 2 from 15. Subtract 2 
from 5 of 15. 

We get 13 by subtracting 2 from 15. Then add 4 to the 13. 

We just add 4 to the 3 of 13. 

We can just calculate 
two numbers at a time 
even if it includes both 
addition and 
subtraction. 

Good! 



１４ ＋ ３ － ２ 

１４ ＋ ３ － ２ 

１４ ＋ ３ ＝ 

add 

－ ２ ＝ 

subtract 

T10_S015 

Good! 

The order of addition and 
subtraction is flipped this time.    

Same as the last one, calculate in order from 
the head of the number sentence. 

First, add fourteen and three. We just add three 
and 4 of 14. 

We get 17 by adding 14 and 3. Then, subtract 2 from the 17. 

Calculate carefully if 
we have addition or 
subtraction. 

We can just subtract 2 from 7 of 17. 



１５ － ２ ＋ ４ 

＋ ４ ＝ 

１５ － ２ ＝ 

add 

subtract 

T10_S015 

① ９ － ６ ＋ ７ 

subtract 

９ － ６ ＝ 

＋ ７ 

add 

＝ 

② １０ － ８ ＋ ３ 

subtract 

１０ － ８ ＝ 

＋ ３ 

add 

＝ 

Exercise  Write a correct number in           . 

Example  Write a correct number in           . 

Good! 



T10_S015 

③ ８ － ４ ＋ ５ 

subtract 

８ － ４ ＝ 

＋ ５ 

add 

＝ 

④ １０ － ６ ＋ ４ 

subtract 

１０ － ６ ＝ 

＋ ４ 

add 

＝ 

⑤ ７ ＋ ２ － ４ 

add 

７ ＋ ２ ＝ 

－ ４ 

subtract 

＝ 

⑥ ６ ＋ ４ － ５ 

add 

６ ＋ ４ ＝ 

－ ５ 

subtract 

＝ 

Exercise  Write a correct number in           . 



⑦ ６ ＋ ３ － ５ 

add 

６ ＋ ３ ＝ 

－ ５ 

subtract 

＝ 

⑧ ８ ＋ ２ － ７ 

add 

８ ＋ ２ ＝ 

－ ７ 

subtract 

＝ 

T10_S015 

⑨ ５ － １ ＋ ４ 

subtract 

５ － １ ＝ 

＋ ４ 

add 

＝ 

⑩ １０ － ６ ＋ ３ 

subtract 

１０ － ６ ＝ 

＋ ３ 

add 

＝ 

Exercise  Write a correct number in           . 



⑪ ２ ＋ ７ － ６ 

add 

２ ＋ ７ ＝ 

－ ６ 

subtract 

＝ 

⑫ ５ ＋ ５ － ４ 

add 

５ ＋ ５ ＝ 

－ ４ 

subtract 

＝ 

T10_S015 

⑬ ８ － ３ ＋ ２ 

subtract 

８ － ３ ＝ 

＋ ２ 

add 

＝ 

⑭ １０ － ７ ＋ ４ 

subtract 

１０ － ７ ＝ 

＋ ４ 

add 

＝ 

Exercise  Write a correct number in           . 



T10_S015 

⑰ １９ － ９ ＋ ４ 

subtract 

１９ － ９ ＝ 

＋ ４ 

add 

＝ 

⑱ １８ － ６ ＋ ４ 

subtract 

１８ － ６ ＝ 

＋ ４ 

add 

＝ 

⑮ １０ ＋ ７ － ５ 

add 

１０ ＋ ７ ＝ 

－ ５ 

subtract 

＝ 

⑯ １２ ＋ ３ － ２ 

add 

１２ ＋ ３ ＝ 

－ ２ 

subtract 

＝ 

Exercise  Write a correct number in           . 



T10_S015 

㉑ １５ － ５ ＋ ８ 

subtract 

１５ － ５ ＝ 

＋ ８ 

add 

＝ 

㉒ １６ － ４ ＋ ７ 

subtract 

１６ － ４ ＝ 

＋ ７ 

add 

＝ 

⑲ １０ ＋ ４ － ３ 

add 

１０ ＋ ４ ＝ 

－ ３ 

subtract 

＝ 

⑳ １１ ＋ ６ － ５ 

add 

１１ ＋ ６ ＝ 

－ ５ 

subtract 

＝ 

Exercise  Write a correct number in           . 



T10_S015 

㉕ １７ － ７ ＋ ６ 

subtract 

１７ － ７ ＝ 

＋ ６ 

add 

＝ 

㉖ １５ － ３ ＋ ７ 

subtract 

１５ － ３ ＝ 

＋ ７ 

add 

＝ 

㉓ １０ ＋ ６ － ２ 

add 

１０ ＋ ６ ＝ 

－ ２ 

subtract 

＝ 

㉔ １３ ＋ ４ － ６ 

add 

１３ ＋ ４ ＝ 

－ ６ 

subtract 

＝ 

Exercise  Write a correct number in           . 



T10_S015 

㉙ １３ － ３ ＋ ９ 

subtract 

１３ － ３ ＝ 

＋ ９ 

add 

＝ 

㉚ １９ － ５ ＋ ３ 

subtract 

１９ － ５ ＝ 

＋ ３ 

add 

＝ 

㉗ １０ ＋ ８ － ６ 

add 

１０ ＋ ８ ＝ 

－ ６ 

subtract 

＝ 

㉘ １７ ＋ ２ － ８ 

add 

１７ ＋ ２ ＝ 

－ ８ 

subtract 

＝ 

Exercise  Write a correct number in           . 



＋ 13 ３ － ４ ＝ 

① ＋ ８ １ － ２ ＝ － ６ ２ ＋ ４ ＝ ② 

③ － ７ ３ ＋ １ ＝ ＋ ５ ５ － 1 ＝ ④ 

⑤ ＋ ９ １ － ４ ＝ － 10 ７ ＋ ４ ＝ ⑥ 

⑦ － 10 ７ ＋ ６ ＝ ＋ ４ ２ － １ ＝ ⑧ 

⑨ ＋ 11 ５ － １ ＝ － 15 １ ＋ ２ ＝ ⑩ 

⑪ － 19 ９ ＋ ２ ＝ ＋ 13 １ － ２ ＝ ⑫ 

⑬ ＋ 10 ４ － ３ ＝ － 16 ３ ＋ ２ ＝ ⑭ 

⑮ － 16 １ ＋ ３ ＝ ＋ 15 ４ － １ ＝ ⑯ 

⑰ ＋ 15 ２ － ６ ＝ － 19 ６ ＋ ２ ＝ ⑱ 

T10_S015 

Exercise  Write a correct number in           . 

Good! 

Example  Write a correct number in           . 



T10_S02 

－ ＝ 12 ３ 

subtract 

subtract 

subtract 

－ ＝ 12 ３ 

－ 10 １ 

Do you know the answer 
of “12-3”? 

We can’t subtract 3 
from 2 of 12. 

Good! 

Let’s think about it with          . 
                                             tomato 

Subtract 2 from 12 first. 

Subtract 1 from the remainder 10. 

The remainder is the answer. 

The remainder 
is 9. 



subtract 

－ 10 １ 

subtract 

subtract 

－ ＝ 12 ３ － ＝ 12 ３ 

① ② 

subtract 

－ ＝ 11 ２ 

subtract 

－ ＝ 11 ３ 

－ 10 １ 

subtract 

－ 10 １ － 10 ２ 

subtract subtract 

T10_S02 

Exercise  Subtract. 

Example  Subtract. Good! 



－ 10 ３ － 10 ４ 

③ ④ 

subtract 

－ ＝ 11 ４ 

subtract 

－ ＝ 11 ５ 

⑤ ⑥ 

subtract 

－ ＝ 11 ６ 

subtract 

－ ＝ 11 ７ 

－ 10 ５ － 10 ６ 

subtract 

subtract subtract 

subtract 

T10_S02 

Exercise  Subtract. 



－ 10 １ － 10 ２ 

⑨ ⑩ 

subtract 

－ ＝ 12 ３ 

subtract 

－ ＝ 12 ４ 

⑦ ⑧ 

－ 10 ７ － 10 ８ 

－ ＝ 11 ８ 

subtract 

－ ＝ 11 ９ 

subtract 

subtract subtract 

subtract subtract 

T10_S02 

Exercise  Subtract. 



－ 10 ３ － 10 ４ 

⑪ ⑫ 
－ ＝ 12 ５ － ＝ 12 ６ 

subtract subtract 

⑬ ⑭ 

－ 10 ５ － 10 ６ 

－ ＝ 12 ７ － ＝ 12 ８ 

subtract subtract 

subtract 

subtract subtract 

subtract 

T10_S02 

Exercise  Subtract. 



－ 10 ３ 

subtract 

－ 10 ２ 

subtract 

－ 10 １ 

subtract 

－ 10 ７ 

subtract 

⑰ ⑱ 

⑮ ⑯ 
－ ＝ 12 ９ 

subtract 

－ ＝ 13 ４ 

subtract 

subtract 

－ ＝ 13 ５ 

subtract 

－ ＝ 13 ６ 

T10_S02 

Exercise  Subtract. 



－ 10 ４ － 10 ５ 

subtract 

－ 10 ６ 

subtract 

－ 10 １ 

subtract 

⑲ ⑳ 

subtract 

－ ＝ 13 ７ 

subtract 

－ ＝ 13 ８ 

㉑ ㉒ 

subtract 

－ ＝ 13 ９ 

subtract 

－ ＝ 14 ５ 

subtract 

T10_S02 

Exercise  Subtract. 



－ 10 ４ － 10 ５ 

subtract 
subtract 

㉓ ㉔ 

㉕ ㉖ 

subtract subtract 

－ ＝ 14 ６ － ＝ 14 ７ 

subtract subtract 

－ ＝ 14 ８ － ＝ 14 ９ 

－ 10 ３ 

subtract 

－ 10 ２ 

subtract 

T10_S02 

Exercise  Subtract. 



－ 10 １ － 10 ２ 

－ 10 ３ － 10 ４ 

㉗ ㉘ 
－ ＝ 15 ６ － ＝ 15 ７ 

subtract subtract 

㉙ ㉚ 

subtract 

－ ＝ 15 ８ － ＝ 15 ９ 

subtract 

subtract subtract 

subtract subtract 

T10_S02 

Exercise  Subtract. 



㉛ ㉜ 

subtract 

－ ＝ 16 ７ － ＝ 16 ８ 

subtract 

subtract subtract 

㉝ ㉞ 
－ ＝ 16 ９ － ＝ 17 ８ 

－ 10 １ － 10 ２ 

－ 10 ３ － 10 １ 

subtract 

subtract subtract 

subtract 

T10_S02 

Exercise  Subtract. 



subtract 

㉟ ㊱ 
－ ＝ 17 ９ － ＝ 18 ９ 

subtract 

－ 10 ２ － 10 １ 

subtract subtract 

㊳ ㊲ 

－ 10 ３ 

subtract 

－ ＝ 11 ４ 

subtract 

－ 10 ４ 

subtract 

－ ＝ 15 ９ 

subtract 

T10_S02 

Exercise  Subtract. 



－ ＝ 12 ３ － ＝ 12 ３ 

① 

③ 

⑤ 

T10_S03 

subtract subtract 

subtract subtract 

subtract 

－ ＝ 11 ２ 
subtract 

② 

subtract 

－ ＝ 11 ３ 
subtract 

④ 

subtract 

－ ＝ 11 ４ 

subtract 

－ ＝ 11 ５ 
subtract subtract 

⑤ ⑥ 

subtract 

－ ＝ 11 ６ 

subtract 

－ ＝ 11 ７ 
subtract subtract 

Good! 

Example  Subtract. 

Exercise  Subtract. 



subtract 

⑦ 

⑬ 

⑨ 

⑪ 

⑧ 
－ ＝ 11 ８ 

subtract 

－ ＝ 11 ９ 

subtract 

subtract subtract 

⑩ 

subtract 

－ ＝ 12 ３ 

subtract 

－ ＝ 12 ４ 
subtract subtract 

⑫ 
－ ＝ 12 ５ － ＝ 12 ６ 

subtract subtract 

subtract 

⑬ ⑭ 
－ ＝ 12 ７ － ＝ 12 ８ 

subtract subtract 

subtract subtract 

T10_S03 

Exercise  Subtract. 



⑰ 

⑮ 

㉑ 

⑯ 
－ ＝ 12 ９ 

subtract 

－ ＝ 13 ４ 

subtract 

subtract subtract 

⑱ 

subtract 

－ ＝ 13 ５ 

subtract 

－ ＝ 13 ６ 
subtract subtract 

⑲ ⑳ 

subtract 

－ ＝ 13 ７ 

subtract 

－ ＝ 13 ８ 
subtract subtract 

㉒ 

subtract 

－ ＝ 13 ９ 

subtract 

－ ＝ 14 ５ 
subtract 

subtract 

T10_S03 

Exercise  Subtract. 



㉓ 

㉕ 

㉗ 

㉙ 

㉔ 

subtract subtract 

－ ＝ 14 ６ － ＝ 14 ７ 
subtract subtract 

㉖ 

subtract subtract 

－ ＝ 14 ８ － ＝ 14 ９ 
subtract subtract 

㉘ 
－ ＝ 15 ６ － ＝ 15 ７ 

subtract subtract 

subtract subtract 

㉚ 

subtract 

－ ＝ 15 ８ － ＝ 15 ９ 

subtract 

subtract subtract 

T10_S03 

Exercise  Subtract. 



subtract 

㉛ 

㉝ 

㉟ 

㊲ ㊳ 

subtract 

subtract 

－ ＝ 11 ２ 
subtract 

subtract 

－ ＝ 11 ３ 

㉜ 

subtract 

－ ＝ 16 ７ － ＝ 16 ８ 
subtract subtract 

subtract subtract 

㉞ 
－ ＝ 16 ９ － ＝ 17 ８ 

subtract subtract 

subtract 

㊱ 
－ ＝ 17 ９ － ＝ 18 ９ 

subtract 

subtract subtract 

T10_S03 

Exercise  Subtract. 



㊴ ㊵ 

subtract 

subtract 

－ ＝ 11 ４ 
subtract 

subtract 

－ ＝ 11 ５ 

㊶ ㊷ 

subtract 

subtract 

－ ＝ 11 ６ 
subtract 

subtract 

－ ＝ 11 ７ 

㊸ ㊹ 

－ ＝ 11 ８ 
subtract 

subtract 

－ ＝ 11 ９ 
subtract 

subtract 

㊺ ㊻ 

subtract 

subtract 

－ ＝ 12 ３ 
subtract 

subtract 

－ ＝ 12 ４ 

T10_S03 

Exercise  Subtract. 



51 52 

53 54 

50 ㊾ 

subtract 

subtract 

－ ＝ 12 ７ 
subtract 

subtract 

－ ＝ 12 ８ 

㊼ ㊽ 

subtract 

subtract 

－ ＝ 12 ５ 
subtract 

subtract 

－ ＝ 12 ６ 

subtract 

subtract 

－ ＝ 13 ５ 
subtract 

subtract 

－ ＝ 13 ６ 

－ ＝ 12 ９ 
subtract 

subtract 

－ ＝ 13 ４ 
subtract 

subtract 

T10_S03 

Exercise  Subtract. 



59 60 

61 62 

55 56 

57 58 

subtract 

subtract 

－ ＝ 13 ７ 
subtract 

subtract 

－ ＝ 13 ８ 

subtract 

subtract 

－ ＝ 13 ９ 
subtract 

subtract 

－ ＝ 14 ５ 

subtract 

subtract 

subtract 

subtract 

－ ＝ 14 ６ － ＝ 14 ７ 

subtract 

subtract 

subtract 

subtract 

－ ＝ 14 ８ － ＝ 14 ９ 
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－ ＝ 15 ６ － ＝ 15 ７ 
subtract 

subtract 

subtract 

subtract 

subtract 

subtract 

－ ＝ 15 ８ － ＝ 15 ９ 
subtract 

subtract 

subtract 

subtract 

－ ＝ 16 ７ － ＝ 16 ８ 
subtract 

subtract 

subtract 

subtract 

subtract 

subtract 

－ ＝ 16 ９ － ＝ 17 ８ 

67 68 

69 70 

63 64 

65 66 
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subtract 

subtract 

－ ＝ 17 ９ － ＝ 18 ９ 
subtract 

subtract 

71 72 

73 74 － ＝ 11 ２ － ＝ 11 ３ 

75 76 － ＝ 11 ４ － ＝ 11 ５ 

－ ＝ 11 ６ － ＝ 11 ７ 77 78 

－ ＝ 11 ８ － ＝ 11 ９ 79 80 

－ ＝ 12 ３ － ＝ 12 ４ 81 82 

－ ＝ 12 ５ － ＝ 12 ６ 83 84 

－ ＝ 12 ７ － ＝ 12 ８ 85 86 

－ ＝ 12 ９ － ＝ 13 ４ 87 88 

－ ＝ 13 ５ － ＝ 13 ６ 89 90 
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－ ＝ 13 ７ － ＝ 13 ８ 91 92 

－ ＝ 13 ９ － ＝ 14 ５ 93 94 

－ ＝ 14 ６ － ＝ 14 ７ 95 96 

－ ＝ 14 ８ － ＝ 14 ９ 97 98 

－ ＝ 15 ６ － ＝ 15 ７ 99 100 

－ ＝ 15 ８ － ＝ 15 ９ 101 102 

－ ＝ 16 ７ － ＝ 16 ８ 103 104 

－ ＝ 16 ９ － ＝ 17 ８ 105 106 

－ ＝ 17 ９ － ＝ 18 ９ 107 108 
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－ ＝ 14 ８ － ＝ 12 ７ 109 110 

－ ＝ 15 ６ － ＝ 11 ３ 111 112 

－ ＝ 12 ４ － ＝ 17 ９ 113 114 

－ ＝ 11 ６ － ＝ 15 ７ 115 116 

－ ＝ 11 ７ － ＝ 11 ４ 125 126 

－ ＝ 12 ９ － ＝ 16 ９ 127 128 

－ ＝ 14 ９ － ＝ 12 ８ 129 130 

－ ＝ 13 ５ － ＝ 14 ７ 131 132 

－ ＝ 16 ８ － ＝ 12 ５ 117 118 

－ ＝ 13 ７ － ＝ 11 ６ 119 120 

－ ＝ 14 ５ － ＝ 13 ８ 121 122 

－ ＝ 18 ９ － ＝ 15 ８ 123 124 
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